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Semaine du 2 avril 2007

1 Listes

I Exercice 1

#include <s t d l i b . h>

void decoupe ( struct l i s t e ∗ l , struct l i s t e ∗∗ l1 , struct l i s t e ∗∗ l 2 ){
struct l i s t e ∗ t ;
∗ l 1 = l ;
∗ l 2 = ( l != NULL) ? l−>suivant : NULL;
while ( l != NULL) { /∗ é q u i v a l e n t à : wh i l e ( l ) { ∗/

t = l−>suivant ;
i f ( t != NULL) { /∗ é q u i v a l e n t à : i f ( t != NULL) { ∗/

l−>suivant = t−>suivant ;
l = t−>suivant ;
t−>suivant = ( t−>suivant != NULL) ? t−>suivant−>suivant

: NULL;
} else

l = NULL;
}

}

I Exercice 2

void f i l t r e ( struct l i s t e ∗ l ) {
struct l i s t e ∗ t ;
while ( l != NULL) { /∗ é q u i v a l e n t à : wh i l e ( l ) { ∗/

t = l−>suivant ;
i f ( t ) {

l−>suivant = t−>suivant ;
f r e e ( t ) ;

}
l = l−>suivant ;

}
}

2 Arbres

I Exercice 3

int meme_squelette ( struct arbre ∗a , struct arbre ∗b) {
i f ( ! a && ! b) /∗ é q u i v a l e n t à : i f ( a == NULL && b == NULL) ∗/

return 1 ;
else

i f ( a && b) { /∗ é q u i v a l e n t à : i f ( a != NULL && b != NULL) ∗/
return meme_squelette ( a−>gauche , b−>gauche )
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&& meme_squelette ( a−>dro i t e , b−>dro i t e ) ;
} else

return 0 ;
}

I Exercice 4

int p r e f i x e ( struct arbre ∗a , struct arbre ∗b) {
i f ( ! a ) /∗ é q u i v a l e n t à : i f ( a == NULL) ∗/

return 1 ;
i f ( ! b ) /∗ é q u i v a l e n t à : i f ( b == NULL) ∗/

return 0 ;
i f ( a−>va leur != b−>va leur )

return 0 ;
return p r e f i x e ( a−>gauche , b−>gauche )

&& p r e f i x e ( a−>dro i t e , b−>dro i t e ) ;
}

I Exercice 5

struct l i ste_de_noeuds ;

struct arbre {
int va l eur ;
struct l i ste_de_noeuds ∗ l i s t e_d e_ f i l s ;

} ;

struct l i ste_de_noeuds {
struct arbre ∗noeud ;
struct l i ste_de_noeuds ∗ su ivant ;

} ;

int arite_max ( struct arbre ∗a ) {
int ar i te_max_f i l s = 0 ;
int nb_f i l s = 0 ;
int t ;
struct l i ste_de_noeuds ∗ l = a−>f i l s ;
while ( l ) { /∗ é q u i v a l e n t à : wh i l e ( l != NULL) ∗/

nb_f i l s++;
t = arite_max ( l−>noeud ) ;
i f ( t > ar i te_max_f i l s )

ar i te_max_f i l s = t ;
l = l−>suivant ;

}
i f ( nb_f i l s > ar i te_max_f i l s )

return nb_f i l s ;
else

return ar i te_max_f i l s ;
}

3 Pointeurs vers des fonctions

I Exercice 6

int (∗ ) ( int )

I Exercice 7
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int pour_tout ( struct l i s t e ∗ l , int (∗ pr ed i c a t ) ( int ) ) {
while ( l )

i f ( (∗ pr ed i c a t ) ( l−>va leur ) ) /∗ ou : i f ( p r ed i c a t ( l−>va l eur ) ) ∗/
l = l−>suivant ;

else

return 0 ;
return 1 ;

}

I Exercice 8

int est_pair ( int n) {
return (n % 2 == 0 ) ;

}

int tous_pairs ( struct l i s t e ∗ l ) {
return pour_tout ( l , &est_pair ) ; /∗ ou : re turn pour_tout ( l , e s t_pair ) ; ∗/

}

I Exercice 9

struct l i s t e ∗ i n s e r e ( struct l i s t e ∗ l , void ∗ x , int (∗ i n f e r i e u r ) ( void ∗ , void ∗ ) ) {
struct l i s t e ∗∗ pere = &l ;
struct l i s t e ∗ r e s u l t a t = mal loc ( s izeof ( struct l i s t e ) ) ;
while ( l && (∗ i n f e r i e u r ) ( l−>valeur , x ) ) {

/∗ ou :
∗ whi l e ( l && i n f e r i e u r ( l−>valeur , x ) ) {
∗/

pere = &l−>suivant ;
l = l−>suivant ;

}
r e su l t a t−>va leur = x ;
r e s u l t a t−>suivant = l ;
∗pere = r e s u l t a t ;
return l ;

}
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